WAT-1, W aradr
PART-I, MENTAL ABILITY

gﬁw WQT | §5 % us avit & 7€ & R Direction : In question Nos. | to 5 there is a number
TS qe ES‘ 21 5 yyaras g (7) | quar  series with one term missing shown by question mark
T 21 98 HE Y T un fyeed 7 ¥ @ 7 (7). This term is one of the following four alternative

g feshed ﬂﬁ'&l glven Choose tl:{e zEogect number from options.
32y s
1. 1,4,27,16,7,36,343 Lol 4 27,16, 7 , 36, 343
(A) 25 (B) 87 (A) 25 (@) 87
(C) 120 (D) 125 © :}D’; 185
2 A7 12 19, qﬁs 3
5. 4,7,12,19,28,7
(A) 30 (B) 36
(A) 39 B (e (D) 49
(C) 39 (D) 49 ) _ 10 (2_ 1 }'6
e ? g8 3. I0 18, 28, 40, 54,
5. 10, 18,28, 40 70
(A) 68 @70 . ((?)) 76 f '/g 74
© (D) 74 'S
s 4. 4,12, 36, 108, ?
o 412,36, 108 # ay2ie (A) 144 (B) 216
(A) 144 D) 324 £_C) 304, 2 £ (Dy324
(©) 304 - s. 119,25, 49,7, 121
12 . .
s L%Z> 49, 75 e ) & e
(A) g‘]‘ (D) 100 (€) 91 (D) 100
(= o g § =& R $T H iy 6. Breadis related to Wheat in the same way
&S - A Brick is related tO ..oover :
%:A}aﬂ??r (B) e (A) Fire (B) Cement
© gt (D) A . «©j Clay (D) Building
i 9 YR d1g F gafer §, 3 TR TTE 7. Waves is related to Air in the same way as
B (i J— g Ripples is related tO .o -
(A) T (B) &1 (A) Water (B) Wind
(C) oA (D) yait «(C) Storm (D) Smoke
e firg YR ATaETe! § wafg §, 3@ 8. Accident is related to Carefulness in the
TR AT A AT E C# same way Disease is related O v :
(A) T (B) aaié (A) Treatment (B) Medicine
(C) W= (D) SfeRT ,_(C) Sanitation (D) Doctor
NE p.T. O.

[3]
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fordyr : T FHE 9-13 F f23 T S A & el |

W § T s g e

Rt & 3 T P @ sy < & s
o - % e o R T oR & A &1 W
forpeg TR
9, gt g ;¢ gqoiieT : ?
(A) FoT (B) fafereor L‘l g
(C) =t @y Q|
10. d : afEq : ¢ e ¢ ? /.C‘Zi__‘
(A) s (Bse) RS
(B) amrga® (TR HERT) —
(C) 3meH i
(D) T%
11, 3T : ot ¢ ﬁi : ?
(A) faarg (B) €
(C) A% (D) Hrm
12. gt g co: WM 7
(A) I (B) ST
(C) T (D) gt
13. W:W-W::Qﬁ“ﬂ'q:?
A) @ (B) =
(C) - (D) feor-ufgem
14, f5dt ws W # MYSTIFY & Fe-8en
NZTUJGZ ferar s &, 36 s & NEMESIS
F Fe-ahd o ?
(A) MDLHRDR  (B) OFNFTJT
(C) ODNHTDR (D) PGOKUGU
15. Fedt e & SIKKIM & THLJJL fer@r St
3| 5@ F12 § TRAINING & @ie a1 ferar
s ?
(A) UQBHOHOF  (B) SQBHOHOH
(C) UQBJOHHO (D) UQBJOHOH
NE [4]

T 8, B3 ™ IR

Dlrec.tmn : In question No. 9-13, there is a question
mark m-the blank space and it is only one of the four
alternatives given under the question which satisfies
the same relation as is found between the two patterns
to the left of the sign : : given in the question. Find
the correct alternative.

9, Clock : Time : : Thermometer ; ?

(A) Heat (B) Radiation
(C) Energy ,\}D).Temperature
10. Hot: Oven :: Cold : ?
(_(A) Refrigerator

(B) Air Conditioner
(C) Ice Cream

(D) Snow
11. Ornament : Gold : : Needle : ?
(A) Stich (_{B7 Steel
(C) Tip (D) Thread
12. Earth : Sun : : Moon : ?
(A) Orbit (B) Sky
- (C) Star {_(Dy Earth
13. South : North-West : : West : ?
(A) East (B) South
—(C) North-East (D) South-West
14. In a certain language MYSTIFY is coded as
NZTUJGZ, how is NEMESIS coded in that
language ?
(A) MDLHRDR _(B)y OFNFTJT
(C) ODNHTDR (D) PGOKUGU
15. In certain Code SIKKIM is written as
THLJJL. How is TRAINING written in that
Code ?
‘——(#}UQBHCHOF  (B) SQBHOHOH

(C) UQBJOHHO
_LURBQBIOHOH

—_—
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16.

17.

18.

19.

20.

21.

22.

NE

If in a certain language, pOPULAR is coded

fdt W § POPULAR v &t -89 § 16
QPQ.VMBS feran s é‘; 39 f5E v= @ as QPQVMBS, which word would be coded
§e-Hbd GBNPVT &M ? as GBNPVT ?
(A) FAMOSU  (B) FAMOUS _(yFAMOSU (B FAMOUS
(C) FASOUM (D) FOSAUM (C) FASOUM (D) FOSAUM
af PAINT %1 %2-¥37 74128 @0 EXCEL  17. IfPAINT is Coded as 74128 and EXCEL is
H Fe-HH 93596 F fan S g, A S coded as 93596, then how would you code
ACCEPT &1 Fe-daa 1 fordn ? o S ACCEPT ?
(A) 554978 (B) 735961 (A) 554978 (B) 735961
(C) 547978 (D) 455978 (C) 547978 (D) 455978
R Z =52 TAMACT = 48, & @ BAT & a9 _18. 1fZ = 52 and ACT =48, then BAT will be
e .
0 : equal to : '3 R0
(A) 39 (B) 44 iJ D ’7 ol (A) 39 €9 (B) 44
(C) 46 (D) 50 s 22 7T ()46 (D) 50
e 7 ¥ P A gfE— 19. Choose the odd one out from following :
(A) &F (B) 3@ (A) Ear (B) Eye
(©) T (D) Tl (C) Nose _(Dy-Throat
& Hee A T AR o 0§ R & 20, A woman introduce a man as the son of the
o s A & W8 W 3| 39 =@ W brother of her mother. How is the man related
e A = gerg 8 7 to the women ?
(A) T W (B) & L/(A}Cousin (B) Son
() T (D) T (C) Nephew (D) Grandson
A & R U &) wawr, g A &/ 21. Manoj has brother Pankaj. Manoj is the son
Sy e & §| et @ R G of Ajay. Somesh is Ajay's father. How Pankaj
Ryar 8 ? is related to Somesh ?
(A) T (B) i (A) Son t—B) Grandson
©) ¥ (D) @t (C) Brother (D) Grand Father
TS ST ST S amduF e s 22, Today is Akash's Birthday. One year from
ST AT W & 12 W T8t @ IH @ today, he will be twice as old as he was 12
g @ AT ST & SH TN § 2 years ago. How old is Akash today ?
(A) 25 54 (B) 27 & _(A)25 years (B) 27 years
(©)20 (D) 22 (C) 20 years S (D) 22 years
/
. A
[5] P.T.O
i)z (it = T2 - / \ : :
(A L= s p (2t+!) = 201
9{-1—[: 9.')["'" 2\4 m 2 O 7 QQ(__ZC(
2441 = 29 -4 25 = W-A= = 29 1 -
=L 2 e TN
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23.

24,

25,

28.

29.

R T T

o e A WA A 23,

T R1 Ui W Yedt f S 9w e @ o
AR A1 P A S eph @ (aH A)

(A) 12 (B) 15
(C) 18 (D) 20

IR et Y &) 7 e AR YR ¥ 24,

& RF v 8, @ 39 WA @ 194 aiw

F B AR gm ? -
(C) R (D) TeER

of¥ar @ TET faw o e 9§ 25

e wR & 1480 @t @ g ReEud &
S 4Tl 14 T H A W AR 91 ?
(A) SR (B) TEAR
(C) R (D) uFER €-+(4

2 == Jalir(A) Monday

XA = 12y - (7@ ‘
A father is now three times as old as his son.

Five years back, he was four times as old as

his son. The age of the son (in years) is :

(A) 12 LB15S Se=L2y,
(C) 18 D)20 X- I = 12‘7—

If the seventh day of a month is three days
earlier than Friday, what day will it be on the

nineteenth day of the month ? 305 18
(A) Monday (B) Wednesday =
(C) Friday LJ,D)’S'unday 16 = l'-'ld -

holiday for Republic Day,

14th of the next month is again holiday for j§.= ¢
Shivratri. What day was it on the 14th ? P
(B) Thursday

(C) Tuesday (D) Saturday

Lalit ranks seventh from top and twenty-sixth

Saturday was a |

ww s § afer @ okt () W WAl 26.
T A ¥ oeedl g1 T A F e B from bottom in a class. How many students
g7 )20 are there in the class ? ., 5
(A) 34 (B) 33 Yy LAY 34 ®33 7] +
a— -
(C) 32 (D) 31 < (C) 32 (D) 31
o o F 40 wsfedl # d T H a# & 27. Poojaisfourteenth from the right end inarow of
%9 didedl ¢ gHE WA I ¥ & gm ? 40 girls. What is her position from the left end ?
(A) 2781 (B) 2630 (AAT2Tth ®26th Vg ¢
(C) 2541 (D) 243t (C) 25th (D)24th 7
s cafert afor fewm & 3 e F05 @er 81 28. A man is facing South. He turns 135° n3thes
F@ 1350 ammEd (et d1z9) FHAl 2l anti-clockwise direction and then 180° in the
T A 1800 SRTEd A 31 2 W e Clockwise direction. Which direction is he
frg fRam & € ? 3“?@ facing now ?
(A) 3?1’{-11?? (B) eRyr-ufyem ~ (¢ (A) North-east t_'_(B;»—Scmth—west
(C) ST-vved (D) aferor-gd 2% (C) North-west (D) South-east
T Tt 30 Het IW H TH Gﬂ?ﬁ % W& 29. A girl goes 30 meters North, then turns right
arg g T Jeal 40 Hiex Elﬁfﬁ g, 1 I and walks 40 meters, then turns right and
2t 3R gt 20 Iﬂ?{ et &, G &l T walks 20 meters, then again turns right and
et 40 iRy Tﬁ?\ﬁ 31 3@ 98 o7 A ©H walks 40 meters. How many meters is she
¥ fopad X WE ? ' from the original position ?
(A) 0 i (B) 40 X (A) 0 meter (B) 40 meters
(C) 20 X D) 10 FX 4 ) (C) 20 meters  _AD) 10 meters
ﬁu‘ /?‘QGI .-QD’“S‘()(’J g& . ')tc'gd-
ul .

@/

Sy
[?)‘-G %\Q’—S rq\h"‘?é \.9'

9\."6 =
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30. ?ﬁ%aﬁth—ﬁamﬁ(m FR, amE)
WY & 9d ® F e w6 8 ?

(A) (B) @
(©) (D) @
O

P s F R s i w e
31 ¥ 33 & W 4R

3l. ?aaﬁrifﬁaﬁmﬁmaﬂmzﬂwwc

?

(A) 6 (B) 15

(©) 20 (D) & § FE T
32, e A Re # oT e desl & e

T g ?

(A) 27 (B) 162

(C) 648 (D) T & FE T
33. W@mﬁaﬂﬁaﬁﬁnﬂaﬁaﬂm

g7

(A)S (B) 16

(C) 21 (D) ¥ & F T

frder ﬁﬁﬁ#aﬁﬂmaﬁwmm
(34) T (35) H W 3

venn-diagram

lowin
I p among the

Which of the elauonslu

[lustrate
zfgzzslj(,l;us, nd vehicle) ?

DlI‘ECtIOI‘l : Study the f' igure given below and answer
0.31to 33.

Figure

(D)

the question n

| B oy

What is the sum of the numbers which

1.
’ belongs to two figures only ? v
(A) 6 (B) 15 €
&),.29 (D) None of these ‘T\E
32, What is the product of the numbers which -
belogns to the three figures only ?
A2 (B) 162
(C) 648 (D) None of these
33.  What is the sum of numbers which belong to
one figure only ?
(A)S (B) 16
71 (D) None of these

Directions : Study the number series given below
and answer the questions (34) and (35).

gioft o Series
641,2287421,538621L7, 0 641,2,28%42 15386217
1,4,3,1,2,86 J\f 1/4,3/1,2,8,6
]
34, R P wEms %Wﬁ@?ﬁﬁﬁmﬁ 34, How many pairs of successive numbers
7 o TAF § 2 & TR g ? S 0 having difference of 2 each ?
' €
(A) TR (B) W™ > 3 . (A) Four By Five
() & (D) T2 (C) Six (D) Seven
£ ¢
NE 171 P.T.O.
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35. B wemsi e e @ 2
(A)4,6,8 (B) 1,4, 6
©1,2,3 (D) 4,5, 7

Frer : o ot o1 el s R T s
BE (36) W (37) ¥ I AR

IS

M 1,2,3,4,5,6,7 9 F T &

36, FF W & I AT Jaei S aorr @ S
& e w2 2
(A) 5 (B) 4
(©)3 (D) 2

37. A W AT I A TR B owawr 8, St
f A & & 2
(A) 3 (B) 4
(OB (D) 2

rer : w7 i (38) ¥ (42) ¥ o WRVERR T
Hive R yraes g () ¥ avia T 8 2

38. 1 3

Y‘IQ 71 9 128 32
4 10 ?
(A) 10 (B) 15
(C) 20 (D) 25
39, W 4
? 4
96 24
(A) 2880 (B) 2800 \2:
-
(C) 2400 (D) 1920 0
NE [

3s. Whicg @ures have equal frequencies ?

cAKY 4, 6,1 8 (B) l',g4,
1 2.
© 123 (D) 4,5, 7
Direction : Study the following figure carefully
and answer the question number (36) and (37).

Leaders

Singers

Note : 1, 2, 3, 4, 5, 6, 7 shows the region.

36. Which region denotes Indian Leaders who
are not singers ?
(A)S

©3

(B) 4
(Dr2

Which region represents Indian singers who
are not leaders ?

(A) 3
©1

37.

(B 4
(D) 2
Direction : In question numbers (38) to (42) find

the missing number/character marked with question
mark (?).

38. 13 19_ 71 9 128 32
31 Y52 N i-1
(t‘((i‘e
4 10 ?
(A) 10 (B) 15
(520 (D) 25
39, 20160 4
? 4 5
&0 | 480 g |
s ¢ S 9% | 24 ‘
= @280 1 3(g)2m00
28 (C) 2400 (D) 1920
8]
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e ca I .(;{2 2%- 9
©) 13_‘ 5 15
41. P R R
O
7 TT
( A) 1 I_is = ® '65 20 45
. (B)2 (A) 1 (B) 2
N ©)3 (D) 4 ©3gc £F 15 4
Al ol w 42. Wrﬁiﬁ
- —dqr I
? N R ? N R
(A)P (B) N (A) P (B)N
(©) O (D) K ©0 . (DK

frfer : weA FHF (43) ¥ (47) # 9 Rt & goft Direction : Question number (43) to (47) have a
series with four figures called the problem figures.

& & f et s &1 30f 1 A ¥ Beari ies in mind, cl th t fifth
+ s el o 3 Tl 8) 3 S aring series in mind, choose the correc 1
g %E’ o ﬁ: E(Iﬁ'ﬁ ’ blank figure (marked with ?) from answer figures.
43, Problem Figure

"SRR FISRIEL
SIeIelel - [FIRIeLe
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- 4. T R 44. Problem Figure

o8l B][?] [@[8]edE]?

IN Answer Figure
(A) B © O (A) ®) (& O
45, = 45. Problem Figure

g7 [CleEgl?]
IR Answer Figure ’
Ola| Db Olag| PP
(A) B (© (D A B © (O
46, TAET foA 46.

Problem Figure

7] Rl ?

I fom Answer Figure

5
5 TS E3 Py S pEs

(A) (B) € (D) (A) (B) (&) RN ()7
47. wwe o 47.  Problem Figure
— —~
ojo(eo? Clo(ooll ?
IH R Answer Figure
P S~ N\ N
o2 o O |23 |©
(A) (B) € (D) M (B) € (D
NE [10]
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ﬁ%m:ﬁw%&ﬁwﬂ(%)ﬁ(smﬁﬁﬁﬁ
?5@3],2,3,4@1-@%:,1%'%“@%%%
&1 4% (A), (B), (C) w (D) 3w fom €1 f 1
W 2 W ww fffw sy @1 e ) w (@) F A
& W R 4 ¥ R ow fm @

48. 9HE i
Dl ?
] () R) @

W 3

49. g9

1M 2 @) @

50. wAEn @
ote] 2
3?1'{1%5 2

A  ® © (D

NE

Direction : Each of the following questions (48) to
1 .

amely 1,2,3
ists of two sets of figures n
goi c::)EI:ISIed problem figures, whl!; ﬁg:“(A); (E)E;
’ i the Answer Set. lhere i
R g C?“Stltllte fi | & 2. Establish a
definite relation between .ngure . |
siinilar relation between Figures 3 & 4 by choosing

suitable fig. 4 from the Answer set.

48. Problem Figure

< DL ?

m () (3) 4

Answer Figure

@@@@

(A) ® ©

49. Problem Figure

AT =7

M @) @) @

Answer Figure

A|O|D| A

(A) (B) JQ) (D)

50. Problem Figure

O HEH ?

1 2 B 7

Answer Figure

S [

A B  © (D

[11] P.T.O.
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NE

qyrr- 11 TS

ENGLISH ack
ard nut 10 ¢
Direction : Questions 1 to 6 : > :;;] expensive thing
(Illhoose the correct word from the options to fill in ., difficult probl*’;m
the blanks. : rch
lish resed
. . (C) a foo .
1. The fuel ... of Mr. Mohan's car Is Very (D) an €asy question
high. oment :
) consumpti 9, At the spur of the m .
ption  (B) usage ot delay (B difficult moment
(C) rate (D) expenditure JfA) withou . (D)None of the above
: ination (C) great momen
2. I am working hard ........... the examination. ke an open house on Saturday
0. Mz Il find all kinds of

_(B) to get through
(D) to get over

(A) to get on
(C) to get up

3. Water is precious, do not ............. it.

QA Wwaste (B) waist
(C) west (D) vest
4.  Sheisthegirl ................ book I borrowed for
reading,
(A) who —B) whose
(C) whom (D) which
5. God helps those who help ...............
(A) itself (B themselves
(C) himself (D) herself
6. Reading good books will ........... your outlook.
_(A) Broad (B) Broaden
(C) Weaken (D) Vast

Direction : Questions 7 to 10 :
Choose the correct meaning of the phrases/idioms
given below,
7. Atone's fingertips
(A) to take revenge
(B) matter of shame

+4C) complete knowledge
(D) None

[16]

evening parties. You wi

people there.
An open house means—

{A) Welcomes all members.
(B) Welcomes a select group of people.

(C) Keeps the doors of the house open.
(D) Keeps the gates open for a few persons.

Direction : Questions 11 to 14 :
Select the word that is opposite in meaning to the

word given :

11. Numerous :

(A) abundant (B) manifold

L_(C)-scanty (D) Comprising
12.  Vibrant :
(A) vivacious (B) sparkling
Odull (D) spirited
13. Evil ;
(A) vicious (B) corrupt
(C) wicked wAD) virtuous
14.  Zenith :
(A) culmination (B) summit
ACypinnacle (D) bottom

£+ 1
A
oy
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Direction : Questions 15 to 18 :
Select the most appropriate option to fill the blanks
from the given alternatives.

15. Shimla is .......... than that of Jalandhar.
(LAY colder (B) coldest

(C) cold (D) as cold as

16.  Hardly had they reached the school .............
the bell rang,

«—(:P()’ when

(B) than
(C) until (D) behind
17. The police are looking for a ......... of thieves.
(A) troop (B gang
(C) crew (D) party
18. Theduck ..covereerreennn and then dived into the
water.

(A) bellowed

@_q,uacked

Direction : Questions 19 to 25.

(B) grunted
(D) barked

The following passage contains numbered blank
spaces. Fill in the blanks with the appropriate word
given in each space.

He was happy and contented ............. (19) he

was poor. He never showed signs of frustration

............... (20) his friends who were rich were

always in distress. .......... (21) of the problems he

had to face, he remained calm and composed and

so the people liked his company. ................... (22)
He went he spread happiness. I don't know ..........
(23) he could be so happy ......... (24) he had
nothing but few comforts in life. He was hard
working ..c.cueveeee (25) that was the only secret of

his success in life.

(B) Although
(D) for

19. (A) though

\}Q’when

NE [17]

(B) When

e ‘:hil:h (D) pecause
(C) tho
L(_A.)"l"spite of (B) [nstead of
21. n
(C) Even though (D) Eve

(B) Wwhenever
(D) Whatever

22. (A Wherever

(C) Whichever

23.(_(A)how (B) wher
(©) why (©) whet
24. (AYWhen (B) while
©) yet (D) what
25, <AJand (B) but
(D) So far as

(C) As far as

Direction : Question 26 to 28.
Read the following passage and answer
questions given after it.

A large number of people are consuming
packaged food because it has become a matter of
convenience, pleases the taste buds and fills your
stomach. Also it is important to note the quality of
packaging used for these products and whether
additives are used or not to increase their shelf-
life. For example, dairy products like milk that
comes in tetra packs comes without additive and

the

due to no contact with air, it remains fresh for a
long period of time. The ready to eat food products
are specially laden with preservatives and have
excess oil in form of transfats, which can be a threat
to health. The problem with canned or processed
food is that they have excessive salt or sugar.
Cooking at home is always a healthy option over
junk food. What one needs to do is a little bit of
time management and planning. We should stick to
those food items that we are genetically used to
such as Indian food cooked by traditional methods.

P.T.O.
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. Why are More and more people consuming

Packed food 7 1t is because :

(A) it is cheap.,
By is convenient, tasty and fulfilling.

(C) it is time consuming.

(D) it is good for health.

27. Ready to eat products are laden with :
(A) Proteins (B) Vitamins
(C) Minerals (D) Preservatives

28.  Why do you think cooking at home is a
healthier option ? It is because .........

&

It does not contain preservatives or
excess of salt or sugar.

(B) It helps in time management and
planning,

(C) Tt pleases the taste buds and fills the
stomach,

(D) It is genetically good.
Direction : Questions 29 to 33 :

Read the Jollowing passage and answer the
questions given after it :
What needs to be set right in our approach to
work. It is a common sight in our country of
employees reporting for duty on time and at the
same time doing little work. If an assessment is
made of time, they spent in gossiping, drinking tea,
eating "pan" (paan) and smoking cigarettes, it wil|
be shocking to know that the time devoted to actual
work is negligible. The problem is the standard
which the leadership in administration sets for the
staff. Forget the ministers because they mix politics
and administration. What do top bureaucrats do ?
What do the below down officials do ? The
administration set up remains weak mainly because
the employees do not have the right example to
follow and they are more concerned about being in
the good books of the bosses rather than doing work.

NE

29. The employees in our country :
2 . t not duty consci
te punctual bu -
\(Ay arequi

(B) are not punctual, but somehow Manage
to complete their work.

(C) are somewhat lazy but good Natureq.

(D) are not very highly qualified.

' i
30. The word ‘assessment’ means :

(A) enquiry (B) report
(C) evaluation (D) summary

31. The leadership in administration :
(A) sets a fine example to the employees.
(B) is of a reasonably high standard.
(C) is composed of idealists

\(/Dj.is of a very poor standard.

32.  According to the writer, the administration
in India :
(A) is by and large effective
(B) is very strict and firm
(C) is affected by red tape
(D)-is more or less ineffective

33.  The central idea of the passage could be best
expressed by the following :

E—#)
'b@)
DQ

R

Direction : 34 to 40

The employees outlook towards work
is justified.

The employees must change thejr
outlook towards work.

The employees would never change
their work culture.

The employer-em ployee relationshi pis
far from healthy.

Choose the word which best fijls the blank from
the four options given below :

34. Please......... your votes in favour of me.
(A) Caste (B) Cost

A Cast (D) Cancel

[18]
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35.  Sachin Tendulkar
for India,

(A) brought off
¥EY brought up

............. an impossible win

(B) brought before
(D) brought for
36.  Shakespeare

................ Macbeth,
(A) read —B) wrote
(C) write (D) written

37, The car driver was arrested for rough driving
and his license was :

(A) impounded

\(}Lsuspended

38. The police ... no stone unturned to
trace the culprits.

(A) leave
(C) live

(B) confiscate
(D) penalised

LB left
(D) None of the above

39. AIDS is not a disease that can be
through the air or by insects.
(A) circulated (4B] transferred
(C) disseminated ,_)@) transmitted

40. Had you told me of the short cuts earlier, I
............. the contest.

(A) will have won
(C) would be won

¢((Bywould have won
(D) will be won

41, Either Ram or Shyam ............... lost his book.
Ay Tas (B) have
(C) had (D) have been

Directions : 42 to 43.

Choose the correct word to substitute the phrasal
verbs underlined.

Direct )
Select the most appropria
blanks from the giV

44.

i to 50.
. o . Questions 44 |
on e option to fill in the

en alternatives.

There is going to be a beauty .......

our school.

dﬁ_}.contest

(B) consent

(C) conquest (D) fare
45. Extraordinary €Xpenses ..o be limited
by the worth of an occassion.
(A must (B) dare
(C) are (D) is
46. One could se€ ..ooeueecne her resemblance to
her brothers.
(A) at a glance (Bj a glimpse of
(C) in a glance (D) off
47. Disaster means :

48.

(A) a pleasing incident
(B) distantly situated
(C) which brings happiness

K/@) an unexpected event that causes loss of

lives or wealth

Paddy fields are :

(.Kf fields where rice is grown
(B) big fields

(C) fields where wheat is grown
(D) fertile and big fields

49. If that kind of thing ............ on peacefully,

42. They decided to do away with the old system : there is no harm in it.

(A) remove (B) repair (A) go (B) goes

() prepare (D) reject (C) went (D) gone
43. lamnot able to make outanything fromyour 59 o just like an angel.

speech : (A) looks B) look

AA) conclude (B) understand B ®
(C) seemed (D) pretended

(C) create (D) prepare

NE [19]

P.T.O.

Scanned by CamScanner



= T H_% U P
50 = S p '“7‘:~ 7 “d Qr‘ e, ;\r
SR S smmdtm A oy S
3‘\;@ 2. | PARTIIL SCHOLASTIC APTI oo 30 "j;g 3 75%
=’> . wiferes IEA 2 F W 6 7,

6.

NE

e 'form speed of 60 72:
Eil ¥ @9 T W@ 1. Acarcovers 30 km at a uni
€ 50in 5 - km/hr. and the next 30kmata uniform speed <

30 km # T8 @9 F €1 3K 40 km/hr
gﬂlﬁ T W@ﬁﬁf T g 3T 30 km &l of 40 km/hr. The total time taken is : 2 "}‘1
T g, @ T & § 20 _ \@J <
‘E’iﬂ FA 9 gﬁm% iﬁ (A) 30 min (B) 45 min ;? ”
o /
(A) 30 frfe (B) 45 firie ;Pjo el 3120 el 3
(C) 75 fime (D) 120 5 .
T MR & BF ¥ 0 T § U TR W 2 A stone is thrown upwards with a speed "
3 w81 AR A "3ut AT SHA from the top of a tower. It reaches the ground
¥ TH % i deR @ S et with a velocity "3u". The height of the tower is :
212 u? R _2_lli V- ovrtal
(A) ¢ e yucrlg o(A)_ o 5 S utﬂqti
] 2 4 0 , 3 e g s,
© % o2 52 3t o X ® 5 5= vtilge’

I TH FOT H T AT A A A 3. _When the speed of a particle is doubled, the
F s St 2w G99 H= I am GU(’- r 13 rano of its kinetic energy to its momentum :
(A) e fEa |/ (B) T B 2 _(A)+emains the same (B) gets doubled } on J'

(C) e g (D) R T 8T (C) becomes half (D) becomes fourtimes-"’
10° Hz 3mgfe arwt m T f@e W 4. Calculate the wavelength of radio waves of Y°
3 x 108 m/s g1 39 aimeef gl frequency 10% Hz. The speed of radio waves
(A)GOW- (B)40 ﬁ:ﬁ is3 x 108 me | x}¥ b
' A) 60
(C) 30 . (D) 10 &, (4) 60 em o3~ Blilcm =%
- (@) 30 cm @ (D) 10 ecm ol il
: a;rg gﬁﬂﬁwﬁﬁ EI; & Qﬁ:’s}ﬂ;ﬁ T 16 5. Aforce of 16 N is distributed uniformly on ¥
babalhgid iyl by femfta 34 g one surface of a cube of edge 8 cm. The 1
: pressure on this surface is : H
(A) 3500 Pa (B) 2500 Pa (A) 3500 Pa «B) 2500 P &
a i

s
(C) 4500 Pa (D) 5500 Pa (C) 4500
: Pa (D) 5500
fow fefy & 79 @ i iy
4 SfeEFT g ? 6. In which of the following caes, is the work Lyt

F F done mammum ? P
4 (B) 4 | i /.Z;
%
. F I U
© b O~ 5 —— © {

3){103: @LJD?O(' [20] g A
?:‘K?OS e N . ¥ =4 5 '?Ut'f‘,ﬁt e W™ \S"—"_’_.
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10.

11.

12.

13'

NE

R fepy 3
ST A B % g g

00100100
“
Ny

(A)9.23 0 ®) 15 Q
©300 (D) 100 ©

qﬁmmﬁ%amWaﬁﬁLaﬁx
2L %, Wa;:m o
ST g il
W1:1 ®)1:8

R R A A I A 0 T
gwmmmﬁmwm

(A) 9R (B)%

(© 3R (D) R/3

a8 feme R &9 @ § ¢

(A) JETer T (B) e famia
(C) TR FERe (D) FEfa FeRe
E@M%mm@ﬁwg@aﬂm
(A) (B) Saraifear

(C) TEdgfEr (D) T

3fy £ e g A T WA o

2 AB F R # @er wg A

8. Two wires of same mal

nce between the

ctrical resista en
and B of the circult shown in :

points A
1002102108 30

20Q 209 40
(&) 9.23 Q B8) 150
(C) 30 2 (D) 100 €2
terial have lengths L

ross—sectional areas 4A and A

and 2L and € \
respectively. The ratio of their resistances
would be :

(A)1:1 ey : 8

©8:1 $2

Wire of resistance|R is streched to thrice

9,
of its original length, what is its new
resistance ?

R
(A) 9R (B) 9
_46) 3R (D) R/3

10. Galaxy in which we live is :

(0 Milky way (B) radio galaxy

(C) circular galaxy (D) irregular galaxy
11.  Vision problem occuring in old age is known

as :
"@ Presbyopia

(A) Myopia
_(C) Hypermetropia (D) Anepia

12. The focal length of each half, if
the symmetrical lens of focal

mmﬂm@ﬁ?— cl o length £ cut along AB : ~c| [F|o
a7 ®) [ng L) f ®) H f
2
;(1;) ;f a(]r;)ﬁ%::f i ’ ©2f (D) zero r
3THAM FEAH &l WHH 13, Two bodies of unequal masses
posses the same
2 & uift fvs & T e, & v & momentum. The K.E. of the heavier mass will
TS F T o il e cuvrreene, the K.E. of the lighter mass.
(A) TH FAH (B) 3= \}‘r) same as (B) greater than
(C) &H (D) FB 3 (L less than (D) much greater than
6ro. ¢ [21] P.T.O.
¥
Ly o .. 2 3 X
& 2 <
Tl e dassp . 203
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TET IS
CHEMISTRY

14. Electron was discovered by :

4. TRE & SRS @ |
(A) S, gfrga (B) Jefas MJ,J, Thomson (B) Chadwick
(C) 3. TeewRH (D) @R (C) E. Goldstein (D) Rutherford

15. Rrem @ TaEREs @ @
(A) CaCO, . SH,0

15. The chemical formula of Gypsum is :

(B) CaSO, . 2H,0 LBy CaSO, - 2|H20
| !
(C) CasO, . 5 Hy0 (C) CaSO, . %Hzo

' |

16. T @ go@l @R B qed 38 9o § se 16,

The process in which the red hot cast iron is
cooled immediately in cold water is known as :

# wfFar @ FEd 8
(A) 93T (B) YW ¥ (A) Tempering  B) Quenching
(C) arrgefia (D) feRsH fmem (C) Annealing AD) Bleaching
17. Nat & sl =g 2 - 17.  Electronic configuration of Na® is :
(A) 2, 8, 1 (B)2,8,8 (A)2,8,1 (B) 2, 8, 8
©)2,8 (D)2, 8,8, 1 _4€) 2, 8 (D) 2, 8, 8, 1
18. SO, ¥ WeW AN FH TAEM & 18. Valency of Sulphur atom in SO, is :
(A) 3 (B) 2 (A) 3 (B) 2
C€) 4 (D) 6 L) 4 (D) 6
19. CH;—'CH—CHs 19. Write IUPAC name of :
CH, « CHy-CH-CH, S78 .
¢ L iLHy /
# IUPAC (3. du) 99 fafad - _’g; S.
(A) 2, 2 SRR SO A) 2 ;d_ | =
» imethyl
(B) 2, ¥t = - > propane
) 2, methyl butane
(C) 2, 2 SEARA TIT ac Bt (©)2 24
(D) 2, et S n? o, 2’ imethyl ethane
"o , methyl propane
20, ®ow ©e F g # € Tar i
20.  Stainless steel ins °
(A) Fe, Ni, Cr (B) Fe, Ni, Sn €3 Lk e
] F i .
(C) Fe, C, S (D) Fe, P, Cr bEBNL G (B) Fe, Ni, Sn
©)Fe, C, s (D) Fe, P, Cr
NE CH C
27 [22]
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21,

22.

23'

24,

26|

NE

its
eutrons in an atom and
n

: . e nany
oft Rl o F 12 =g § wd e w21, 1€ " mber is 11 Then how !
w18, @ oy § R e H tos & n:re present in it :
sufer g eletrors (B) 12
(A) 23 (B) 12 W) 23 Al
© 10 ) 11 ©10 - configuration of

: “ -« the electron ‘
i G % Tl @ soeee RRm ar g 22, What is T e
(A) 152, 252 2p° elements of 1rd 707

i (A) 1% 257 2P |
(B) 152, 252 2pS, 352 3p! 2 906, 3s% 3p-

2 s rg® (B) 1s% 25”2 >
(C) 1s%, 252 2p ) 12, 252 2pb
(D) 182, 252 2pS, 3s! D) 1s2, 25 2pS, 3s! .

‘ duced on addition of dilute
AR SR W 7] §eRIRF I S Wt 23, The gas prody dzing 15 :
T T ], 9% ¢ Sulphuric acid on powdere
(C) H, (D)0, L LOH (D) O,
AV ;
R : 2 : E )is:
R (—E— OH) F ¥ € : < Y 24. Name of functional group (—C—OH
(A) fsers Y.  (A)Aldehyde
3
(B) #EH “;  (B) Ketone
(C) TR £ Q) Alcohol
(D) Swifeafes 3 \NQ‘ /D) Carboxylic acid
TR # FEA-FEA WS & A W 9H 25, Type of bond present between carbon— carbon
arem 59 g atoms in Ethene is :
(A) THa TEwdSS 99 “(' 3 (A) Single covalent bond
(B) fos wewdio® sy X (B) Double covalent bond
(C) fis wewaem aa 5 .. _(C)Triple covalent bond
(D) forga el - 8 .8 (D) Electrovalent bond
o
g -
PVC &1 7 g : J! a 26.  Structure of PVC is *
| )
(B) <CH,~CH 27 ]
ek (B) £CH,-CH, 3,
S \ (&) € CF,~CF, 3
(D) £CH,~CH ). E iy
CH,
CH,
(23]
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27.

28.

29.

30.

31

32.

33.

strar fer™™

BIOLOGY sed the term Ecosystem :
IR T Rrwy s R - 27.  Who prop?
A) T . (A 6 T
B) £ 9. sien @ E. P O
©) w1 A (C) Carl Mobius
Haecke]
N (D) Earnst
B S f Photosynthesis, the source
YET HYAGUT &) aiffrer o sdio & aw 28 In the process O
N of Oxygen is :
(A) CO, (A) €O
(C) CgH ;04 ©) G
(D) T ¥ aX & (D) None of these
9 TRfRE 7w F W owes g § . 29 Which cdmponent is formed by plants in the
ecosystem :
(A) TR (B) ITT (A) Decomposer  (B) Consumer
(C) 3t (D) SH FH «e) Producer (D) All of the above
frr 4 & 39 o @ TEY g 2 30. Which of the following is a plant hormone :
(A) Tgfer (B) WEIHEA (A) Insulin BY Cytokinin
(C) TraifaRT (D) TEIH (C) Thyroxin (D) Oestrogen
FIEH F U FEY e ¢ 31.  Power house of cell is known as :
A) TR B) WiEEImivgar i bodi \
((C)) (B) (A) Golgi bodies _(B) Mitochondria
D .
T (D) T (C) Ribosome (D) Lysosome
fewgsr § F SRRl : ..
2 & 8 32. F, ratio in Dihybrid Cross is :
(A)1:2:1 (B)7:3:6 Al -
L A 1:2:1 B)7:3:6
(€)9:3:3:1  (D)3:1
| \. (L)9:3:3:) D)3:1
B W T @ I BT § - 3 .
(A) &7 (B) 7% + Which organ is known as ‘Blood bank' :
Heart :
(C) fieeht (D) 355 LAY (B) Liver
C
(©) Spleen (D) Kidney

[24]
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34. ?mem(mﬁmm)m
(A) A (B) B
(©)AB (D)0

35. ¥R W A ARieE & g @ W F
?ﬂﬂﬁm‘?,ﬁ‘mmw:

(A) FfeA

(B) HieieH

(C) Erreifam

(D) e

36. TEESIRE @ W IWE 7

(A) TERRE 3=

(B) #fes et

(C) uEEfas a1

(D) wARE o

37. fre 8 ¥ 3 o 9 erelig au @ et €

(A) NO, & CO,
(B) CH, & SO,
(C) CO, & SO,
(D) SO, & NO,
38, ¥ wE w FY SR & 9§

34, Which blood group is called "Universal
donor" :
(A) A (B)B
(C) AB (DO

35, Oxygen in our blood is transported by a

Protein, named :
(A) Keratin
(B) Collagen

_(CyHaemoglobin
(D) Myoglobin

36. The end product of glycolysis is :

(A) Phosphoric acid
(B) Malic acid

Sy Pyruvic acid

(D) Fumaric acid

37.  Which of the following gases related with
acid rain :
(A) NO, & CO,
(B) CH, & SO,
(C) CO, & SO,

\_(D)-S0, & NO,

38. The Grana & Stroma are the parts of which

J(A) RS cell organelles :
(B) TN (@R ) (A) Mitochondria
©) T LBy Chloroplast
0 ctetter © Ribos.ome
(D) Golgi bodies
39. riftheem F yo fREe B0 @ @ 39.  Reproduction in Bryophyllum takes place by :
(A) 5% (B) i t(A) Root (B) Leaf g
(C) @ (D) ¥H # = T (C) Stem (D) None of these
40. T w amwﬁas ™ g 40. Botanical name of Tulsi is :
(A) T s LeAy-Saraca indica
((2; ;T%ﬂm (B) Ficus benghalensis
o aﬁw e (C) Phyllanthus emblica
(D) Ocimum sanctum
NE [25]
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gferard

HISTORY - olated to which religion 7
i Stupa 1s 1€
41 Sanch! ddhism
o ¥ gafae 8 , u
" Tg - (B) ¥ S %thakz
© LINED (D) e ©) hegi o dl )Civilization
o g &t 42 h/lohanjodal‘o(5‘"'aswatl Sindhu
42. Aeice (FwEd Ry WA o is discovered by .
Tl'é— (A) Rai Bahadur Sahl‘l-l
(A) T TR TEA T (B) Rakhal Das BanerJee
(B) T T CEE LY (C) Ram Chaudhary
© :;‘mfr mm (D) V. D. Mahajan
(D) dl.sl. HerS _
s o oS fear TE— 43. Buddhism is started by :
43' (A) &, 9. R SRR W (A) Dr. B.R. Ambedkar
(B) H‘Eﬂtﬁlﬁ’f 2 (B) Mahaveer Swami
(C) TRl g;g T l_/fC) Mahatma Blldh
(D) 9T 3N gW (D) Samrat Ashok
44. THE 39S VES 941 44, Samrat Ashok was ruler of : -
(A) e & (B) YRR & (A) Bhopal LB)?atahputra
(C) fowelt &1 (D) fafewm =1 (C) Delhi (D) Vidisha
45. TG G F TEH ViR WEE q— 45. Most powerful ruler of Gupta dynasty was :
(A) &t I (B) FAR T (A) Shree Gupt (B) Kumar Gupt
(C) &2 9 (D) ¥ W (C) Skand Gupt (D¥ Samudra Giipt
46. ﬁwaﬁﬁmaﬁt @ w e A o 2 46 ]\:’ho w:s the founder of the kingdom of Vijay
(A) ehl agar
(B) PR A) Harihar and Bukka
(C) 2™ Rrcic (B) Krishnadev Roy
(C) Dev Roy 11
D 1
() ¥ (D) Harihar 11
47. faceft o dgdiedt Emfoy
7 fem Fgariar BEEA 47, Mehrauli situated Kutubmj
= . linar of Delhj js
A . constructed by :
(BJ e & (A) Shahjahan
(C) i (B) Aaram Shah
(© FIFA T aw €Y Kutubuddin Ebak
(D) T & (D) Babar
NE (26]
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48.

49.

50.

51.

S2.

3.

54.

5.

NE

e  fFE gOH H 9 (F) g
Fa S 3—

(A) ¥R fEeet

(B) FeWA H

(C) WEwR TIe®

(D) fRiISwR s i
aeEd fRm R

(A) BRE H (B) w1 #
(C) s # (D) T=E &
Rt it 7 &1 9w a—

(A) Sirsmarg (B) STaR
(C) el (D) W

e = B % s 49—
(A) dfEd SRR o Tew

(B) Wigd T &g T

(C) g u=% a4

(D) W 4= 2Eme @

TFRE AR H T g3 A
(A) 7&8 WewT § (B) fgR ®
(C) few=tt # (D) e #
TG ISl RleH S fhar TE—
(A) sf=w T g

(B) Tead WE YW W

(C) 1. . e W

(D) HiEd W FEE= e ga
e @E Hae W9 H W gi—
(A) foomeerdt 1925 £ #

(B) fasramwmdt 1930 € &

(C) et 1942 €. 4

(D) dweet 1947 . H

WY @Y d9F §9 & GNE 49—

[27]

48. Which Sultan is known as Mad (Sanki) Sultan

in history :

(A) Allauddin Khilji
(B) Balban
((_Q)zMuhammad Tuglak
(D) Ferozshah Tuglak

49. Tajmahal is situated at :

(A) Chattarpur (B) Patna
L—(E‘LAgra (D) Mumbai
50. Shivaji's mother name was :
(A) Jijabai (B) Baijabai
(C) Chandbiwi (D) Tarabai

51. Founder of Azad Hind Fauz was :
(A) Pt. Jawahar Lal Nehru
(B) Mohan Das Karamchand Gandhi
(_¢2) Subhash Chandra Bose
(D) Sir Saiyad Ahmed Khan

52. Chandrashekhar Azad was born at :
((A) Madhya Pradesh (B) Bihar
(C) Delhi (D) Bengal

53.  Quit India Movement is started by :
(A) Indira Gandhi
(B) Ballabh Bhai Patel
(C) D. P. Mishra

{(D).Mohan Das Karamchand Gandhi

54. Rashtriya Swayam Sewak Sangh' was
established in :

(A) Vijaydashmi - 1925 A.D.
(B) Vijaydashmi - 1930 A.D.
\(CyDeepawali - 1942 A.D.
(D) Deepawali - 1947 A.D.

55, Founder of 'Rashtriya Swayam Sewak Sangh'
was !
(A) Guru Golwalker -
(BLKeshav Baliram Hegdewar
(C) Lala Lajpat Rai
(D) Atal Bihari Vajpayee

P.T. O.
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S6.

57.

58.

59.

60.

NE

GEOGRAPHY

B, W wan @ R @
(A) T omufifde g

(B) T Iff I amm

(C) S@R WA Hamed

(D) TR Wiepfts HETEH

o gt & G are & g 8 ?
(A) 30 GroRE enel faeme g ¥
(B) 39 &gHw fommm B9 &
(C) 39H TEIreH fmm 8x @
(D) 35F g faemm &R &
ARYA FFE F A F T TG
(A) S i |
(B) et wifa

(C) vam wifd

(D) et SHifer

I @ R wae o @ @ 2
(A) T3 (B) ffma
© frme (D) R
TR TR R F A
(A) 5 Rag

(B) 9 vRagw

(©) ¥ TRz

(D) 5% wRagy

56.

- 57.

[28]

Coal, Petr ol are

€

a0 Non Renewa®!
(B
(C) Frequently used

(D) Eternal

the type of resources :

resources

) Renewable resources

resources

Natural resources

Why red soil has red colour ?

(A) because it contains phosphoric acid

(B) because it contains Humus

(C) because it contains Nitrogen

D because it contains Iron

58. The name of operation flood is known :

(A) Yellow revolution

(B) Blue revolution

_(©) White revolution

(D) Pink revolution

59. Which is not a variety of coal ?

(A) Anthracite

«(C) Lemonite

(B) Bituminous

(D) Lignite

60. Which is the most cheapest means of

transport :

*—A) Water transport

(C) rail transport
(D) road transport
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[
E
|

61.

62.

63.

64.

65.

66.

67.

NE

Al T 8§ 2

(A) 99 a1 TN F e

(B) =W A ) 3

(C) TR A & g

(D) 3ThTeT & FEm

T & wei B W wEer s S 8 2
(A) T (B) =

(C) = (D) T[T

g uRa A A R

(A) Fre b (B) &HE! 3@
(C) W wam (D) < Fam
A % o Tsw  FreE die gea sam
i 2

(A) BETTE (B) e

(C) ufew @M (D) A

s & drew TR @O g
(a) T ®

) fet (D) &

Ao & e REE e H O
(A) TPl T

(B) 3irefivs ST

() T ST

(D) 3wt af

T sewme W % e Tod F R & 2
(A) g (B) FHiew

(C) 3y ¥ (D) F&

[29]

61.

62.

63.

65.

LA) Chattisgarh

What is Knot ?

\_(4) Unit of measuring wind velocity

(B) Unit of measuring air pressure
(C) Unit of measuring temperature

(D) Condition of sky

Which crop is mostly grown in India ?

(L@’PUISGS

(D) Bajra

(A) Wheat
(C) Rice

Which is not forest based Industry :
(A) Paper Industry (B) Wood Industry
(C) Rubber Industry (D)/Sugar Industry
Bhilai iron and steel industry situated in
which state of India :

(B) Karnatak

(C) West Bengal (D) Odisha

Weather maps are publised in India from :

B)Pune
(D) Dehradun

(A) Mumbai
(C) Delhi

Which type of disaster in Bhopal gas tragedy :

(A) Natural disaster

(B) Industrial disaster

_+4C) Chemical disaster

67.

(D) All of the above

In which state in India Tuticorin port is
situated ?

Ay Tamilnadu (B) Karnataka
(C) Andhra Pradesh (D) Kerala

P.T. O.
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68.

69.

70.

LR 68. Tsunami S ¢
(A) Tsharg (A) C,'y(:|01'|0
(B) qﬁﬁﬁ'ﬁlﬁ (B) Amicyclonc
© ¥4 wgh _yes Tigh Oceanie ¥
(D) ST wh (D) All of the 200¢
T ' ftrad
WA B T wgr e wiieR 3w @ 69. Whichcountry 15 biggest contributor T racE
(A) ;rﬂq;r T R in India : .
(B) g \_~A) United State of America
B) United Kingdom ‘
©) Iy (
(C) Belgium
(D) s
(D) Germany
R s
31 & U FER A §2AE 39 70, To all those customer who do not have
T €, I R s 3 T qrEER da @ computers or internet to them they are
(A) =ORS e provided telecommunication through :
(B) His twe (A) Vyaparik Channel
(C) §uw (B) Speed Post
(D) ¥ €) e-Post
(D) e-Bill Post

[301
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ANTRSR 9T

| CIVICS
£ .
| 71, WRAG THE HEE F S gen - 71. Indian National Congress was formed in the
(A) 1885 (B) 1900 Yeag.:
) 1920 A 1885 (B) 1900
1 D
© (D) 1947 (C) 1920 (D) 1947
72. WEY 9 % e & 4 7 72. Who was the president of the drafting
(A) Tz 6T committee ?
(A) Rajendra Prasad
(B) 3ITH !
(B¥ Ambedkar
(C) e <h (C) Gandhi ji
(D) @& s (D) Nehru ji
73. AR T FOE F TIT T FT Y ? 73. Who was the first president of Indian National
2 ' Congress ?
A) T
&) o (A) A. O. Hume
(B) T s (B) Surendranath Banerjee
(C) = I Sl _(©) Wyomesh Chandra Banerjee
(D) W Tt (D) Mahatma Gandhi
74, T SR # GET I B R 2 74. Who safeguards the fundamental rights ?
(A) TEHAT (A) Prime Minister
(B) TEdfd (B) President
(C) 48e (C) Parliament
(D) Hered e (D) Supreme Court

75, FreE Gee 9 & g = g f/my 75. What is the minimum age to become a

o6 B =R ? member of Legislative Assembly ?
(A) 21 (B) 25 o (A) 21 years (BY25 years
©) 30 = (D) 35 ¥ (C) 30 years (D) 35 years
NE [31) P.T.O
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76.

77.

78.

79.

80.

NE

srefyTre

ECONOMICS

i =Ry o & gy freftad § § e 76, Per capita income refers to which of the
A, following ? .
(A) w3 (B) 3fad 3 (A) Whole income-”’ (—B’)'Averfige !

(C) T /™ (D) = & (C) National income (D) Net income
frferfiaa & & siw-a1 onfds ferg & wevs 77 Which of the following' iz :\l::lo:,:::f
27 measurement of economic
(A) T I «(A) National Income

(B) 3% e (B) Economic Welfare

(C) dmifSih e - (C) Social Welfare

(D) Swle &t (D) All the above

‘R ait @reen’ Aefeifad § § 593 9w 78.  ‘Education and Health' belong to which of
@ g ? % the following ?

(A) THEIRE F= {A) Social infrastructure

(B) anfds €T (B) Economic infrastructure

©) i T (C) Physical infrastructure

(D) 3T FF (D) All the above

frfafas & & 6w 9 & wRa # 7€ anfifs

A B A T o?
(A) 1990 (B) 1991

(C) 1992 (D) 1993

TE-THT S F oo 8

(A) & T R @ S @ WAt )
(B) @& Ft e 3 fasg ¥ wwfg 2
(C) @ T e Faad 3% 29 ¥ er &)
(D) @& ¥ s siwend @ fva ¥ o §)

[32]

79.

80.

In which of the following year India has

adopted the "New Economic Policy' ?
(A) 1990 By 1991

(C) 1992 (D) 1993

Multi-national Company means :

(A) A company whose work relates to
production,

(B) A company whose work relates to sale.

Lg)_ A company whose business is spread

over several countries.

(D) A company whose shareholders are
spread in whole world.
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- LY ATV L3~
e e Or B
L3 %0 0= 7 .
MATHEMATICS g
cos” 6+ tan’ @ - | .
2 : "o+ t1an =L |
sin- 0 H A § 81. The value of = ) IS
sin” 0
inl
(A) sin? @ (B) cos? 0 (A) sin? 0 (B) cos? 0
(C) cot? 6 (D) tan? e cot? O (D) tan? 0
- cos® 20° + cos? 70° ; : cos” 20° +cos” 70° 5
sin” 59° +Sinz3 10 H HH : 82. Valueo Sin259° +Si|]2310 . , I_M‘
L 10
(A)0 ®)1 Bow (A)0 B) | 2 s
1 - 53 1 —
© 3 -1 3 @5 -1
83. m & W wm ¥ R el 83. Which value of m, equation
2x+my—-4=0, 2x + my — 4 =0, 1C9,..)-Lévﬂ .y
= fO'm * e o ’Tﬂ % =0
3x-Ty—-10=0 a;\)g:j U 3x-7y-10=0 _‘_Q_,..;’ ‘1,_.\(1 1o
= IR T TG AW ? 26: ;"‘"ﬁ has no solution ? 3L EJ
2 4 10 % (B) .i 3'- = %rm,"
(A) = @+ 0 (A) 3 1o~ 14 d
3 10 & -
©) =) (D) 3 i 3 3 3
84, TR x5 —4x2—Tx+ 10 F YIF ¥ 84. Zeroes of the polynomial x° —4x2-7x+10
' ' are e e Y MR~
(A) 1, 5,2 (B) 1,-5,2 “2Yy +EmRy
(A) 1,5, -2 (B) 1, -5, 2
C)-1,5,2 (D) 1,-5,-2
©-1,5,2 (D) 1;-5;-2
-3
85 -x—-_-\2—4;—)2 ¥ 39 @ v el 98 & 85. Which rational expression should be added
' X(J\’ =
' x—-x>+2 X+l
x+1 T 2 to __“x(xz—l) to get _xl—l )
x* -1 _
‘g 2 B) > O o
A 5 ® 3 2 x
(C) 2x (D) x* () 2x (D) x2
: ,rOO“Bd +2PC)‘
¥ e 2P.T.0
NE 25 [33] o looc;brﬁ i
— N4~
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86.

87.

88.

89.

90.

91.

5 3. B ATt g9 & dx 9 3 w9 A g
T o S @ T €

(A) 4 . (B) 6 .
(C) 8 Tl (D) 10 &
s e e A S 14 30, &1 R
= 16 W T et de & Ft T
1320 a2 &1 7@ A =W €
(A) 14 ¥ (B) 16 ¥
(€) 7 . (D) 8 .

el T T AR A e O e B
#W@Wﬁﬁ}ﬁwgﬁaﬂm
FHOT T :

(A) 30° (B) 45°

(C) 60° (D) 90°

sin 0 (cosec O — sin 0) =T AH $:
(A) sin? 0 (B) tan? 0

(C) cot? (D) cos? 6

A Rdl F U Y WER W, T
R w3 (Rm) o & W 201 () o
ﬂm%

(A)2 ®) 12
©) 4 D) 1/4
mﬁﬁ?ﬁaﬁwaﬁﬂ-mﬁ[
(Eﬁqaﬁqﬁm) ,
1 0‘J
(A)s—gg &
I
(B)gd“ ,
© 2 S
365 T
(D) IR # ¥ FF 7 ) 8

rd which isata distance of 3 cm.

fCho '
8. Lenetho radius 5 cm. 1S :

from the centre of circle of

Q',ft(f 4 cm. (B) 6 cm-

(C) 8 cm. (D) 10 cm.

w cylinder is 14 cm. If
6 cm and total curved
ylinder is 1320

87. The heightof 2 hollo
external diameter is 1

surface area of the hollow_c s
its internal diameter 1S :

sq. cm., then
(A) 14 cm. (B) 16 cm.
~AC) 7 cm. (D) 8 cm.
n when the

88. The angle of elevation of the su
length of the shadow of a tower is equal to

its height is :
(A) 30° o (B) 45° /l ‘#)
(C) 60° (D) 90° 2
89. The value of sin 0 (cosec 6 — sin 0) is :
(A) sin? 8 (B) tan? 0 .g&»b[_g_"*’
(C) cot? 6 o (D) cos? 0 %fa"O'( L.-..—.f:,
90. Two coins are tossed simultaneously, then £

the probability of getting head on one coin
and tail on another coinis: T T H't4 HT T/

2
¥ AB) 112 moﬁ—/( Py
© ou M5

91. Sita and Gita are friends, what is the
probability that both will have different
birthdays (ignoring a leap year) :

' 1
0 73
1

BY —
B) 364
364

S, o RS At

mone of these s ,

[34]
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e e S

k03,

94.

9s.

96.

97.

NE

xX-8= 3t -4 L4152 3Y
i o T ey o By ’f &
4 o = A= - ISt 5 ‘
= T L& a'si v i Em_ﬂ 93, Five years ago ‘age of Sunita was thrice the
3 3T Y ST o oY el a¢= 3& ﬁge of Vineeta. After 10 years Sunita's age
=1 ? S T g will be twice the age of Vinita, what is the
‘ = 34 -/Bresent age of Sunita ?

A) 50

1 ™ () 20 = J oAAK) 50 years (B) 20 years

©) 70 =8 (D) 30

29 I A A q e
d& Bnf - T Tt

(A) 30
(C) 45

(B) 40
(D) 50
X A FR B A e T § @

(C) 70 years (D) 30 years

93. How many two-digit numbers are divisible

+19Q
by 2: Q(-rjo:n‘l({f )
(A) 30 B)40 o +105 A (AFIH]
_ a
s (D) 50

94. If A and B are two non empty sets then -
A C = C = 10 = 2[%
(AUB) (AUB)~ = wF 3
(A) A U BE (B) AC A BC JA) AC U BE (B)AC B o= 2(OLFY
(C)A u B® (D)AC A B (C)A U B€ (D)A€ A B 3
g AWM. BeT % AR F e o et | &L ¢ 95.  How many spheres of iron having radius 1
¥ B - ¥ 9 cm. can be made by melting a.sphere of iron
e et ST T FHA € having 8 cm. radius ? L110= 22 1o
o - i
(A) 64 (B) 128 q'ﬂ& AT 64 (B) 128 3
€4~ i
(C) 356 D) 512 22 ™ (C) 356 (D) 512 ' yS2
sin49°  cos4l® | sin49°  cos41° -2 = Se?
L,+_49° _H AN B 96. Value of P —— is: 2N
cos41® sin 90;41 sin49 st= 40
J o L, - (&; ' - (] -]
(4)2 I Y w2 e, w4
< , ey —
P = sz ' ‘-:_(],3)4 IImdhs 91 S U
©1 - AT O

(D)aqﬂ#aﬁ@aﬁiaﬁ _,{‘jzy)
aaaﬁs‘

' (D) None of these

T&h a'rf AR ax2 + bx +¢ = 97. A quadratic equation ax? + bx +¢ =0 has no
areifosd el Tal 2 8 real roots, if :
' %
(A) b2 —4ac =0 (A) b2 — 4ac =0 43 “7ch0
(B) b% > 4ac : (B) b2 > 4ac T Y g
(C) b? < dac So (L) b? < dac
(D) b + dac = 0 s “L\q. (D) b? 4 4ac =0
AT g 35 DL 08 1 P.T.O.
| 6 [35] A8 4
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%8. T wi T & T vl G e 98. The sum of pairs of opposite angles of a cyclic
L

quadrilateral is :
~ (A) 900 (B) 180° (A) 90° oAB) 180°
(C) 270° (D) 360° (C) 270° (D) 360°

99. wuWw 3k : 83,2, .. F W 20 W & 99, The sum of first 20 terms of AP : 8, 3, -2,

...... IS &

(A) =790 (B) -970 (A) =790 (B) 970
(©) -979 (D) =779 -({)——979 (D) =779
100. U WEReer % WY & =@ 1.6 m §1 g 100. The diameter of a cycle wheel is 1.6 m. The
@ e § 21 9 o €1 @9 U 62 A wheel revolves 21 times in one minute, then
wEfbe R g SR how much distance will the cycle cover in
one hour :
LAk, 3.636 Rug, (B)6.250 L. (A) 3.636 km. '/.(B) 6.336 km.
(0025, \D) 2640 Jem. (C) 6.633 km. (D) 2.640 km. 3-
& Ox 2__3 » O S x 2
O S - 000 \ 25, 5
4 Sm= /. 2____, _
162D _cnt 0.9, &X 746 -
-2 .
2. (=129 -_2,5, 7' .
—10+ =17 £5 A |71
-9 - ' N
8, S F5tn-1)d - *‘8(1 ' ,j;f_
M ! o ke j x?) 1 LS <
¥ 24 o ge B E p
- Y9 - 17 “ o B -9 . 1D
/ d 3 - 1,_ ?" -'\
2Bt T 8 LR SR> I
- |7 - 2 ~ % d_j}T \,1 S
02 PR o 1498 wq A~ -1817 &
Q7 ~ 3 VY ‘/6
/\ A a { 2f) \
A8 e O g M
NE R/ ATV {55 b} ')—
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